EE334 Computer Architecture
Name: _________________________________

Homework Assignment 6

Due: March 9, 2011, 9:10am


A program is run on a load and store processor that has a clock cycle time of 0.34nsec. The number of instructions that are executed is 1.87X109 and the instruction mix is given below. 
	Instruction type
	Executed instructions
	Multi-cycle CPIi
	Pipeline CPIi

	ALU
	8.7X108
	4
	1

	Load
	3.9X108
	5
	1

	Store
	1.2 X108
	4
	1

	FP inst.
	1.5 X108
	6.8
	4.2

	Branch
	3.4 X108
	3
	2


Please determine:

a) The CPI for each implementation.

b) What implementation is faster and by how much.

























































































































